



TRIVARIATE FIBONACCI AND LUCAS POLYNOMIALS

E. GOKCEN KOCER AND HATICE GEDIKCE

ABSTRACT. In this article, we study the Trivariate Fibonacci and Lucas polynomials. The classical Tribonacci numbers and Tribonacci polynomials are the special cases of the trivariate Fibonacci polynomials. Also, we obtain some properties of the trivariate Fibonacci and Lucas polynomials. Using these properties, we give some results for the Tribonacci numbers and Tribonacci polynomials.

1. INTRODUCTION

In [4], the Tribonacci sequence originally was studied in 1963 by M. Feinberg. For any integer $n > 2$, the Tribonacci numbers T_n were defined by the recurrence relation

$$T_n = T_{n-1} + T_{n-2} + T_{n-3}; \quad T_0 = 0, \quad T_1 = 1, \quad T_2 = 1.$$

In [2], the author derived the different recurrence relations on the Tribonacci numbers and their sums and got some identities of the Tribonacci numbers and their sums by using the companion matrices and generating matrices. In [5], the authors defined the generalized Tribonacci numbers and derived an explicit formula for the generalized Tribonacci numbers with negative subscripts. In [6], Lin obtained the Binet's formula and De Moivre types identities for the Tribonacci Numbers. In [7], the author got a formula for Tribonacci numbers by using an analytic method. In [8], the author obtained some identities for the Tribonacci numbers. Also, Pethe defined the complex Tribonacci numbers at Gaussian integers. In [10], Spickerman got the Binet's formula and generating function for the Tribonacci sequence and obtained an application for the Tribonacci numbers.

In [1], the authors got the Tribonacci Numbers from Tribonacci triangles and discussed the properties of functions related to Tribonacci Numbers. Also, Alladi

2000 *Mathematics Subject Classification.* 11B39, 11B83.

Key words and phrases. Tribonacci Numbes, Tribonacci Polynomials, Binet Formula.

and Hoggatt defined the Tribonacci triangle as follows

$n \setminus i$	0	1	2	3	4	5	...
0	1						
1	1	1					
2	1	3	1				
3	1	5	5	1			
4	1	7	13	7	1		
5	1	9	25	25	9	1	
⋮							

Table1: Tribonacci Triangle

It is interesting to note that, the sum of the elements on the rising diagonal lines in the Tribonacci triangle is 1, 1, 2, 4, 7, 13, 24, ... which are the Tribonacci numbers.

In 1973, the Tribonacci polynomials was defined by Hoggatt and Bicknell [3]. For any integer $n > 2$, the recurrence relation of the Tribonacci polynomials is as follows

$$t_n(x) = x^2 t_{n-1}(x) + x t_{n-2}(x) + t_{n-3}(x)$$

where $t_0(x) = 0$, $t_1(x) = 1$, $t_2(x) = x^2$.

Some of Tribonacci polynomials are 0, 1, x^2 , $x^4 + x$, $x^6 + 2x^3 + 1$, $x^8 + 3x^5 + 3x^2$, $x^{10} + 4x^7 + 6x^4 + 2x$, ... It's clear that $t_n(1) = T_n$, where T_n is n -th Tribonacci number.

In [3], the authors gave the generating matrices for the Tribonacci, quadronacci and r -bonacci polynomials. Also, they obtained the interesting determinantal properties for these polynomials. In [11], the authors defined the bivariate and trivariate Fibonacci polynomials and obtained the some properties of these polynomials.

There are different studies associated with the Tribonacci numbers and polynomials. One of them is incomplete Tribonacci numbers and polynomials in [9]. Ramirez and Sirvent defined the Tribonacci polynomial triangle as follows

$n \setminus i$	0	1	2	3	4	5	...
0	1						
1	x^2	x					
2	x^4	$2x^3 + 1$	x^2				
3	x^6	$3x^5 + 2x^2$	$3x^4 + 2x$	x^3			
4	x^8	$4x^7 + 3x^4$	$6x^6 + 6x^3 + 1$	$4x^5 + 3x^2$	x^4		
5	x^{10}	$5x^9 + 4x^6$	$10x^8 + 12x^5 + 3x^2$	$10x^7 + 12x^4 + 3x$	$5x^6 + 4x^3$	x^5	
⋮							

Table 2: Tribonacci Polynomial Triangle

In this study, based on the definition of Tan and Zhang [11], we make a new generalization of the Tribonacci polynomials.

2. TRIVARIATE FIBONACCI AND LUCAS POLYNOMIALS

Definition 2.1. Let $n > 2$ be integer. The recurrence relation of the trivariate Fibonacci and Lucas polynomials are as follows

$$(2.1) \quad H_n(x, y, z) = xH_{n-1}(x, y, z) + yH_{n-2}(x, y, z) + zH_{n-3}(x, y, z)$$

with the initial conditions

$$H_0(x, y, z) = 0, \quad H_1(x, y, z) = 1, \quad H_2(x, y, z) = x$$

and

$$(2.2) \quad K_n(x, y, z) = xK_{n-1}(x, y, z) + yK_{n-2}(x, y, z) + zK_{n-3}(x, y, z)$$

with the initial conditions

$$K_0(x, y, z) = 3, \quad K_1(x, y, z) = x, \quad K_2(x, y, z) = x^2 + 2y$$

respectively.

It is not difficult to see that $H_n(1, 1, 1) = T_n$, where T_n is n -th Tribonacci number and $H_n(x^2, x, 1) = t_n(x)$, where $t_n(x)$ is n -th Tribonacci polynomial, are special cases of the trivariate Fibonacci polynomials.

The characteristic equation of the recurrences in (2.1) and (2.2) is as

$$(2.3) \quad \lambda^3 - x\lambda^2 - y\lambda - z = 0.$$

The Binet's formula for the trivariate Fibonacci and Lucas polynomials are as follows

$$H_n(x, y, z) = \frac{\alpha^{n+1}}{(\alpha - \beta)(\alpha - \gamma)} + \frac{\beta^{n+1}}{(\beta - \alpha)(\beta - \gamma)} + \frac{\gamma^{n+1}}{(\gamma - \alpha)(\gamma - \beta)}$$

and

$$K_n(x, y, z) = \alpha^n + \beta^n + \gamma^n$$

where α , β and γ are roots of the characteristic equation (2.3), respectively.

Now, we show that some of trivariate Fibonacci and Lucas polynomials in Table

3.

n	$H_n(x, y, z)$	$K_n(x, y, z)$
0	0	3
1	1	x
2	x	$x^2 + 2y$
3	$x^2 + y$	$x^3 + 3xy + 3z$
4	$x^3 + 2xy + z$	$x^4 + 4x^2y + 4xz + 2y^2$
5	$x^4 + 3x^2y + 2xz + y^2$	$x^5 + 5x^3y + 5xy^2 + 5x^2z + 5yz$
6	$x^5 + 4x^3y + 3xy^2 + 3x^2z + 2yz$	$x^6 + 6x^4y + 9x^2y^2 + 6x^3z + 12xyz + 2y^3 + 3z^2$
\vdots	\vdots	\vdots

Table 3: Trivariate Fibonacci and Lucas Polynomials

The generating functions of the trivariate Fibonacci and Lucas polynomials are as follows

$$(2.4) \quad h(t) = \sum_{n=0}^{\infty} H_n(x, y, z) t^n = \frac{t}{1 - xt - yt^2 - zt^3}$$

and

$$(2.5) \quad k(t) = \sum_{n=0}^{\infty} K_n(x, y, z) t^n = \frac{3 - 2xt - yt^2}{1 - xt - yt^2 - zt^3}.$$

Taking $x = y = z = 1$ in (2.4), we obtain the generating function of the Tribonacci numbers. Writing x^2 instead of x , x instead of y and taking $z = 1$ in (2.4), we have the generating function of the Tribonacci polynomials.

Theorem 2.1. Let $H_n(x, y, z)$ and $K_n(x, y, z)$ be n -th trivariate Fibonacci and Lucas polynomials, respectively. Then, we get

$$(2.6) \quad K_n(x, y, z) = xH_n(x, y, z) + 2yH_{n-1}(x, y, z) + 3zH_{n-2}(x, y, z).$$

Proof. Using the generating function of the trivariate Lucas polynomials, we have

$$\begin{aligned} \sum_{n=0}^{\infty} K_n(x, y, z) t^n &= \frac{3 - 2xt - yt^2}{1 - xt - yt^2 - zt^3} \\ &= 3 \frac{1}{1 - xt - yt^2 - zt^3} - 2x \frac{t}{1 - xt - yt^2 - zt^3} - y \frac{t^2}{1 - xt - yt^2 - zt^3} \\ &= 3 \sum_{n=0}^{\infty} H_{n+1}(x, y, z) t^n - 2x \sum_{n=0}^{\infty} H_n(x, y, z) t^n - y \sum_{n=0}^{\infty} H_{n-1}(x, y, z) t^n \\ &= \sum_{n=0}^{\infty} (3H_{n+1}(x, y, z) - 2xH_n(x, y, z) - yH_{n-1}(x, y, z)) t^n. \end{aligned}$$

From the recurrence relation in (2.1), we can write

$$\sum_{n=0}^{\infty} K_n(x, y, z) t^n = \sum_{n=0}^{\infty} (xH_n(x, y, z) + 2yH_{n-1}(x, y, z) + 3zH_{n-2}(x, y, z)) t^n.$$

Comparing of the coefficients of t^n , we have the desired result. \square

Theorem 2.2. The sum of the trivariate Fibonacci and Lucas polynomials are as follows

$$(2.7) \quad \sum_{s=0}^n H_s(x, y, z) = \frac{H_{n+2}(x, y, z) + (1-x)H_{n+1}(x, y, z) + zH_n(x, y, z) - 1}{x + y + z - 1}$$

and

$$(2.8) \quad \sum_{s=0}^n K_s(x, y, z) = \frac{K_{n+2}(x, y, z) + (x-1)K_{n+1}(x, y, z) + zK_n(x, y, z) - (3-2x-y)}{x + y + z - 1}$$

for $x + y + z \neq 1$, respectively.

Proof. Using the Binet's formulas, it can be proved. \square

Taking $x = y = z = 1$ in (2.7), we have the sum of the Tribonacci numbers as

$$\sum_{s=0}^n T_s = \frac{T_{n+2} + T_n - 1}{2}.$$

Similarly, we obtain the sum of the Tribonacci polynomials as

$$\sum_{s=0}^n t_s(x) = \frac{t_{n+2}(x) + (1-x^2)t_{n+1}(x) + t_n(x) - 1}{x^2 + x}.$$

Similar to Table 1 and Table 2, we can give the trivariate Fibonacci polynomial triangle as follows

$n \setminus i$	0	1	2	3	4	...
0	1					
1	x	y				
2	x^2	$2xy + z$	y^2			
3	x^3	$3x^2y + 2xz$	$3xy^2 + 2yz$	y^3		
4	x^4	$4x^3y + 3x^2z$	$6x^2y^2 + 6xyz + z^2$	$4xy^3 + 3y^2z$	y^4	
...						

Table 4: Trivariate Fibonacci Polynomial Triangle

$G(n, i, x, y, z)$ is the element in the n -th row and i -th column of the trivariate Fibonacci polynomial triangle. Then, we get

$$(2.9) \quad G(n, i, x, y, z) = \sum_{j=0}^i \binom{i}{j} \binom{n-j}{i} x^{n-i-j} y^{i-j} z^j$$

and

$$G(n+1, i, x, y, z) = xG(n, i, x, y, z) + yG(n, i-1, x, y, z) + zG(n-1, i-1, x, y, z)$$

where

$$G(n, 0, x, y, z) = x^n, \quad G(n, n, x, y, z) = y^n.$$

The sum of elements on the rising diagonal lines in the trivariate Fibonacci polynomial triangle is the trivariate Fibonacci polynomial $H_n(x, y, z)$. Thus, we have

$$H_n(x, y, z) = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} G(n-i-1, i, x, y, z).$$

Consequently, we obtain an explicit formula for the trivariate Fibonacci polynomial $H_n(x, y, z)$ as

$$(2.10) \quad H_n(x, y, z) = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-i-j-1}{i} x^{n-2i-j-1} y^{i-j} z^j.$$

Taking $x = y = z = 1$ in (2.10), we obtain the explicit formula for the Tribonacci numbers as

$$H_n(1, 1, 1) = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-i-j-1}{i}$$

Also, we have

$$H_n(x^2, x, 1) = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-i-j-1}{i} x^{2n-3(i+j)-2}$$

which is the explicit formula for the Tribonacci polynomials in [9].

Similarly, we have an explicit formula for the trivariate Lucas polynomials as follows

$$(2.11) \quad K_n(x, y, z) = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \sum_{j=0}^i \frac{n}{n-i-j} \binom{i}{j} \binom{n-i-j}{i} x^{n-2i-j} y^{i-j} z^j.$$

Theorem 2.3. *Let $H_n(x, y, z)$ and $K_n(x, y, z)$ be n -th trivariate Fibonacci and Lucas polynomials, respectively. Then, we get*

$$x \frac{\partial K_n(x, y, z)}{\partial x} + y \frac{\partial K_n(x, y, z)}{\partial y} + z \frac{\partial K_n(x, y, z)}{\partial z} = nH_{n+1}(x, y, z).$$

Proof. Using partial derivations of the explicit formula of the trivariate Lucas polynomial $K_n(x, y, z)$, we have

$$\begin{aligned} \frac{\partial K_n(x, y, z)}{\partial x} &= \frac{\partial}{\partial x} \left(\sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \sum_{j=0}^i \frac{n}{n-i-j} \binom{i}{j} \binom{n-i-j}{i} x^{n-2i-j} y^{i-j} z^j \right) \\ &= \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \sum_{j=0}^i \frac{n}{n-i-j} (n-2i-j) \binom{i}{j} \binom{n-i-j}{i} x^{n-2i-j-1} y^{i-j} z^j \\ &= n \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \sum_{j=0}^i \binom{i}{j} \binom{n-i-j-1}{i} x^{n-2i-j-1} y^{i-j} z^j \\ &= nH_n(x, y, z). \end{aligned}$$

Similarly, we obtain

$$\frac{\partial K_n(x, y, z)}{\partial y} = nH_{n-1}(x, y, z)$$

and

$$\frac{\partial K_n(x, y, z)}{\partial z} = nH_{n-2}(x, y, z).$$

Using the recurrence relation (2.1), we have

$$x \frac{\partial K_n(x, y, z)}{\partial x} + y \frac{\partial K_n(x, y, z)}{\partial y} + z \frac{\partial K_n(x, y, z)}{\partial z} = nH_{n+1}(x, y, z).$$

□

The generating matrix of the Tribonacci polynomials was introduced in [3, 4]. Similarly, the trivariate Fibonacci polynomials are generated by the matrix Q , where

$$Q = \begin{pmatrix} x & 1 & 0 \\ y & 0 & 1 \\ z & 0 & 0 \end{pmatrix}$$

with the help of mathematical induction on n , we get

$$Q^n = \begin{pmatrix} H_{n+1} & H_n & H_{n-1} \\ yH_n + zH_{n-1} & yH_{n-1} + zH_{n-2} & yH_{n-2} + zH_{n-3} \\ zH_n & zH_{n-1} & zH_{n-2} \end{pmatrix},$$

where H_n is n -th trivariate Fibonacci polynomial, namely $H_n(x, y, z) = H_n$.

Theorem 2.4. *Let m and n be positive integers. Then, we get*

$$\begin{aligned} H_{m+n}(x, y, z) &= H_{m+1}(x, y, z) H_n(x, y, z) + H_m(x, y, z) H_{n+1}(x, y, z) \\ &\quad + zH_{m-1}(x, y, z) H_{n-1}(x, y, z) \\ (2.12) \quad &\quad - xH_m(x, y, z) H_n(x, y, z). \end{aligned}$$

Proof. It can be proved by using the identity $Q^{n+m} = Q^n Q^m$ and matrix equality.

□

The identity in (2.12) is similar to Honsberger formula for the Fibonacci like sequences. From the special cases of (2.12), we obtain some identities for the trivariate Fibonacci polynomials. Therefore, taking $m = n$ in (2.12), we have

$$H_{2n}(x, y, z) = zH_{n-1}^2(x, y, z) - xH_n^2(x, y, z) + 2H_{n+1}(x, y, z)H_n(x, y, z)$$

Writing $n + 1$ instead of m in (2.12), and using the recurrence relation in (2.1), we obtain

$$H_{2n+1}(x, y, z) = H_{n+1}^2(x, y, z) + yH_n^2(x, y, z) + 2zH_n(x, y, z)H_{n-1}(x, y, z).$$

Theorem 2.5. *Let $H_n(x, y, z)$ be n -th trivariate Fibonacci polynomial. Then, we get*

$$(2.13) \quad \begin{vmatrix} H_{n+2}(x, y, z) & H_{n+1}(x, y, z) & H_n(x, y, z) \\ H_{n+1}(x, y, z) & H_n(x, y, z) & H_{n-1}(x, y, z) \\ H_n(x, y, z) & H_{n-1}(x, y, z) & H_{n-2}(x, y, z) \end{vmatrix} = -z^{n-1}.$$

Proof. It's note that $\det(Q) = z$, $\det(Q^n) = z^n$. Using the determinants of the matrices Q and Q^n , we obtain

$$\begin{vmatrix} H_{n+1} & H_n & H_{n-1} \\ yH_n + zH_{n-1} & yH_{n-1} + zH_{n-2} & yH_{n-2} + zH_{n-3} \\ zH_n & zH_{n-1} & zH_{n-2} \end{vmatrix} = z^n.$$

Multiplying the first row of Q^n by x and then adding to second row, then, exchanging rows 1 and 2, we have

$$\begin{vmatrix} H_{n+2}(x, y, z) & H_{n+1}(x, y, z) & H_n(x, y, z) \\ H_{n+1}(x, y, z) & H_n(x, y, z) & H_{n-1}(x, y, z) \\ zH_n(x, y, z) & zH_{n-1}(x, y, z) & zH_{n-2}(x, y, z) \end{vmatrix} = -z^n$$

From the properties of determinant, we obtain

$$\begin{vmatrix} H_{n+2}(x, y, z) & H_{n+1}(x, y, z) & H_n(x, y, z) \\ H_{n+1}(x, y, z) & H_n(x, y, z) & H_{n-1}(x, y, z) \\ H_n(x, y, z) & H_{n-1}(x, y, z) & H_{n-2}(x, y, z) \end{vmatrix} = -z^{n-1}.$$

□

In this way, we obtain the interesting determinantal property for the trivariate Fibonacci polynomials. The result of the determinant in (2.13) is similar to the Cassini like identity for the trivariate Fibonacci polynomials. Taking $x = y = z = 1$ in (2.13), we obtain the determinantal property for the Tribonacci numbers. Writing x^2 instead of x , x instead of y and taking $z = 1$, we have the determinantal property for the Tribonacci polynomials in [3].

REFERENCES

- [1] Alladi, K., Hoggatt, V.E., On Tribonacci Numbers and Related Functions, The Fibonacci Quarterly, 15, 42-45, 1977.
- [2] Feng, J., More Identities on the Tribonacci Numbers, Ars Combinatoria, 100, 73-78, 2011.
- [3] Hoggatt, V.E., Bicknell, M., Generalized Fibonacci Polynomials, The Fibonacci Quarterly, 11, 457-465, 1973.
- [4] Koshy, T., Fibonacci and Lucas Numbers with Applications, A Wiley-Interscience Publication, 2001
- [5] Kuhapatanakul, K., Sukruan, L., The Generalized Tribonacci Numbers with Negative Subscripts, Integers 14, 2014.

- [6] Lin, Pin-Yen., De Moivre-Type Identities for the Tribonacci Numbers, *The Fibonacci Quarterly*, 26(2), 131-134, 1988.
- [7] McCarty, C.P., A Formula for Tribonacci Numbers, *The Fibonacci Quarterly*, 19, 391-393, 1981.
- [8] Pethe, S., Some Identities for Tribonacci Sequences, *The Fibonacci Quarterly*, 26, 144-151, 1988.
- [9] Ramirez, J. L., Sirvent, V.F., Incomplete Tribonacci Numbers and Polynomials, *Journal of Integer Sequences*, 17, Article 14.4.2, 2014.
- [10] Spickerman, W.R., Binet's Formula for the Tribonacci Sequence, *The Fibonacci Quarterly*, 20(2), 118-120, 1982.
- [11] Tan, M., Zhang, Y., A Note on Bivariate and Trivariate Fibonacci Polynomials, *Southeast Asian Bulletin of Mathematics*, 29, 975-990, 2005.

NECMETTIN ERBAKAN UNIVERSITY, FACULTY OF SCIENCE, DEPARTMENT OF MATHEMATICS AND
COMPUTER SCIENCES, MERAM, KONYA-TURKEY
E-mail address: ekocer@konya.edu.tr

NECMETTIN ERBAKAN UNIVERSITY, FACULTY OF SCIENCE, DEPARTMENT OF MATHEMATICS AND
COMPUTER SCIENCES, MERAM, KONYA-TURKEY